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Question Number : 1 Question Id : 27028217864 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No

Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 2 Wrong Marks : 0

In Which approach, the young learner is dependent upon the instructor for all the
Learning ?
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Options:

Androgogical
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Pedagogical
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Question Number : 2 Question Id : 27028217865 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No

Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 2 Wrong Marks : 0

(Creating conditions that are quite similar to actual conditions and providing training or
learning in this environment i known as
RIS 6P 606 SH0R&HOD Ao Daine, eo8*Bmod® 85n Tor S Dokoe
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Assignment
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Tutoral
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Simulation
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Question Number : 3 Question Id : 27028217866 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No

Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : No
Correct Marks : 2 Wrong Marks : 0
The assessment method which emphasizes all aspects of a child’s development 1
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Options :

Comprehensive
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Selective
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Random
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Question Number : 4 Question Id : 27028217867 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No

Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 2 Wrong Marks : 0

The ability to control a group of students depends on:
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Options :

Brand of Institution
éo?’lg ageleay)

Level of Education
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Personality of the teacher and the rapport that he or she develops with them
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Size of the Classroom
EEHB Toow

Question Number : 5 Question Id : 27028217868 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No

Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : No



Correct Marks : 2 Wrong Marks : 0

International literacy day 1s celebrated world wide on
©oSTED eFTd OF TR (@0 THorr B wdHDoLrE ?

Options :

September 5
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Sub-Section Number :
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Question Shuffling Allowed :

Is Section Default? :

2
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Question Number : 6 Question Id : 27028217869 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No

Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 2 Wrong Marks : 0

This research feature allows the results of the research to be verified by repeating the study.
& B 685 o8m | H68% HDmeH HY6 @Cﬁédﬂ)?ém e wBirh5 Gndrtetd

Options :
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Question Number : 7 Question Id : 27028217870 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No

Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : No
Correct Marks : 2 Wrong Marks : 0

In which type of research it 1s all about moving from “Particular to General™ ?
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Options :

Deductive
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EsDASDS

Logical
leyany



Unstructured Approach
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Question Number : 8 Question Id : 27028217871 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No

Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 2 Wrong Marks : 0

The purpose of which scale 1s usually to rank the subgroups in a certain sequence or
order
& e @ng) ﬁ@éaim Ferdmorr GhdhmEmen a8 S50 Bo [Ehos® B8 Jahnk

Options:

Nominal
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Question Number : 9 Question Id : 27028217872 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No



Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : No
Correct Marks : 2 Wrong Marks : 0

Which of the following includes detailed description of methods used for data collection,

sampling  procedures, use of tools for data collection and analysis of data ?
Bero¥ DEGEE"D (HI0DS deraren, Sty Dbk Bmmos Jibns’ 56 S0 &3

Options :

Recommendations & Suggestions
Dartoen obdhn Dette

Scope for further research
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Research Design
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Question Number : 10 Question Id : 27028217873 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control :
No
Correct Marks : 2 Wrong Marks : 0

In reasons which is the term used to check whether the research results are consistent or not
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Options :

Validity
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Reliability
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Sub-Section Number : 3
Sub-Section Id : 2702821312
Question Shuffling Allowed : No
Is Section Default?: null

Question Id : 27028217874 Question Type : COMPREHENSION Sub Question Shuffling Allowed
: No Group Comprehension Questions : No Question Pattern Type : NonMatrix Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Allowed
Progression : Yes Number of Replay : 999 Play On Load : No Control Enable : Yes Time interval

to replay(In Seconds) : 0 Allow Volume Control : No
Question Numbers : (11 to 15)

Question Label : Comprehension



Read the following passage and answer questions 11-13

Performance dimensions are factors that lead to creation. They go beyond the competencies
such as knowledge and skill of the individual. Performance dimensions are broader and deeper
than what a person must now and be able to do in order to function well in his or her job. They
mclude attitude, values and character traits. They exist at various levels of human personality.

At the behavioral level. we can observe skills and knowledge. Social roles and self image
dimensions are found at the mtermediate level. Motives and traits exist at the inner most or
core level. If we can identify those performance dimensions which are most highly correlated
with job success, we can put them together to form a blue print for outstanding performance in
both thought and action,
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Sub questions

Question Number : 11 Question Id : 27028217875 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control :
No

Correct Marks : 2 Wrong Marks : 0

Performance dimensions exist at levels.
DB Teresen TONrOES 57T 0N
Options :
three
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two
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five
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four
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Question Number : 12 Question Id : 27028217876 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control :

No

Correct Marks : 2 Wrong Marks : 0

The meaning of the phrase ‘blue-print’ is
22°-(20E) & D00 TBwEy ©9do

Options :

guide
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model
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Note: For this question, ambiguity is found in question/answer. Candidate will get full marks

for this question if any of the correct options are chosen.

Question Number : 13 Question Id : 27028217877 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control :

No

Correct Marks : 2 Wrong Marks : 0

Performance dimensions lay thrust on
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Options:
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Question Number : 14 Question Id : 27028217878 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control :

No

Correct Marks : 2 Wrong Marks : 0



At the intermediate level can be found
2088 60HE FTroney’ FAFTIOWN

Options :

prejudice
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self-perception
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self- distrust
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Question Number : 15 Question Id : 27028217879 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control :

No

Correct Marks : 2 Wrong Marks : 0

‘Performance dimensions are correlated with success’ means:
DA TSN DRANOS DEIIE 0200 DN EOEFAN, ST

Options :

Perfgrmance dimensions are directly proportional to success
1 v DB Feresen DTS SENT DS KTDTHOES GOETON

Performance dimensions are incongruent to success
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Performance dimensions and success are on different levels
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Performance and success aren’t interrelated
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Sub-Section Number : 4
Sub-Section Id : 2702821313
Question Shuffling Allowed : No

Is Section Default? : null

Question Number : 16 Question Id : 27028217880 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On

Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control :

No

Correct Marks : 2 Wrong Marks : 0
___errors can arise from a lack of knowledge or cognitive capability
and lead to distorted messages.
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Options:
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Question Number : 17 Question Id : 27028217881 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control :

No

Correct Marks : 2 Wrong Marks : 0

communication includes gestures, facial expressions, eye contact

and posture.
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Options :

para- verbal
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Question Number : 18 Question Id : 27028217882 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control :

No

Correct Marks : 2 Wrong Marks : 0

listening means paying close attention to the person who is speaking.
D0 90T SFETT 9550 QRSO D00

Options:

active

osone
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confident
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Biased
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Passive
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Question Number : 19 Question Id : 27028217883 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control :

No

Correct Marks : 2 Wrong Marks : 0



means that you can understand and share the emotions of others.
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Options :

gratitude
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prejudice
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Appreciation

nx BFOD

Question Number : 20 Question Id : 27028217884 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control :

No

Correct Marks : 2 Wrong Marks : 0

To establish trust among teammates, IS necessary.
QTN DG DT, BOFTO TS 29530000
Options :

accountability
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identity
080y

individuality
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transparency
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Sub-Section Number : 5
Sub-Section Id : 2702821314
Question Shuffling Allowed : No

Is Section Default? : null

Question Number : 21 Question Id : 27028217885 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control :

No

Correct Marks : 2 Wrong Marks : 0
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Question Number : 22 Question Id : 27028217886 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control :

No
Correct Marks : 2 Wrong Marks : 0

A boat can fravel 1 % times the distance down the stream than up the stream in the same
time. If the speed of the current 1s 3 kmph. then the speed of the boat in still water.
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Options :

12 km
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15 km

, ¢ 158.20.

18 km
18 8.5

20 km
20 8.20.

Question Number : 23 Question Id : 27028217887 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On



Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control :

No

Correct Marks : 2 Wrong Marks : 0

Two numbers are in the ratios 4 : 7. If 14 15 added to each, they are m the ratio 5 ; 7. The
numbers are

B0tk HoReen 4:7 D )BE’ &wr) aw. (NSRS 14 O, @9 5:7 A
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Options :

Question Number : 24 Question Id : 27028217888 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control :

No
Correct Marks : 2 Wrong Marks : 0

The quartile deviation for the prices of 12 goods m a super market: 10, 20, 40, 15. 18. 60.
51,72,80,22,56,51s
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Question Number : 25 Question Id : 27028217889 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control :

No

Correct Marks : 2 Wrong Marks : 0

In an examination Amar got §% less than the pass mark and Mohan got 20% more than the
pass mark. If the difference between the percentages of their marks is 14. then the pass
percentageis

2.5 086 00 2 Py §0T 8% 580345 PO DO FFeTS o7R 570} §0% 20%
5005 SFOTTERD. 570 ST T 055 S50 14 oS, GBS 70

Options:
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Sub-Section Number : 6

Sub-Section Id : 2702821315
Question Shuffling Allowed : No
Is Section Default? : null

Question Id : 27028217890 Question Type : COMPREHENSION Sub Question Shuffling Allowed
: No Group Comprehension Questions : No Question Pattern Type : NonMatrix Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Allowed
Progression : Yes Number of Replay : 999 Play On Load : No Control Enable : Yes Time interval

to replay(In Seconds) : 0 Allow Volume Control : No
Question Numbers : (26 to 30)
Question Label : Comprehension

The questions 26 to 29 are based on the following data.
26 <0G 29 (34200 8080 OF0F 0 BT S0ETON.

There are eight persons A, B. C. D. E. F. G. and H. Among them there are three married
couples and two pairs of siblings. It 15 known that
(1) D’sfather-in-law 1s E and F's son-n-law 15 G.
(1)  Members i each pair of siblings are of different genders.
(1)  A’s mother H likes B, the daughter of C and E.
(iv) A 1sB's sister-in-law and two of the three married couples have two children each.
(v)  These eight members are among the three marned couples and two paurs of siblings.
A.B,C.D,E.F. G, 000 Hedh AAMA 08 shden §od.
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Sub questions

Question Number : 26 Question Id : 27028217891 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On

Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control :



No

Correct Marks : 2 Wrong Marks : 0

Who are males among the eight?

Al

DDA 3H0EET YD VI 2

Options :

. v F.G,D,E

E£. DG E

G.C.D.B

FEAGE

Question Number : 27 Question Id : 27028217892 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control :

No

Correct Marks : 2 Wrong Marks : 0

How C 1s related to G?
C e G 8 50220800067

Options :

Mother
E‘é;@?

Mother-in-law
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Father

3 % 50|
No relationships exist
JoBoTEN B
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Question Number : 28 Question Id : 27028217893 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control :

No

Correct Marks : 2 Wrong Marks : 0

How D 1s related to B?
D o) B & S000H0DSE?

Options:

Brother-in-law
23%00 006

Brother
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Husband

Sister
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Question Number : 29 Question Id : 27028217894 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control :

No

Correct Marks : 2 Wrong Marks : 0

How 1s H 1s related to B ?
H Qder B & 5020500808 ?

Options :
Mother
¢4 E)
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Sister-in-law
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Sister
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Question Number : 30 Question Id : 27028217895 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control :

No

Correct Marks : 2 Wrong Marks : 0



In a certain code language if the word ‘PANCREAS’ is coded as ‘SAERCNAP’,
then how 1s the word ‘STADIUM coded m that language

0x 86 a7’ PANCREAS’ &% 7)), ‘SAERCNAP’ 1T €6 TR, & 276 ‘STADIUM
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Options :

MUDIATS

MUDIAST
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Sub-Section Number : 7
Sub-Section Id : 2702821316
Question Shuffling Allowed : No

Is Section Default?: null

Question Id : 27028217896 Question Type : COMPREHENSION Sub Question Shuffling Allowed
: No Group Comprehension Questions : No Question Pattern Type : NonMatrix Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Allowed
Progression : Yes Number of Replay : 999 Play On Load : No Control Enable : Yes Time interval

to replay(In Seconds) : 0 Allow Volume Control : No
Question Numbers : (31 to 35)

Question Label : Comprehension



Note: Answer the questions 31 to 35 based on the data provided below
Hebam: Bfe @0600S A& 0Han Sl 31 0 35 29405 Jarrara |Fohod.

The production of a company in the year 2019 from January to August are presented 1n the

bar chart presented below.
2019 5056535065 23556 H0S 8f S8 L0 tred 18 B ©0A0AS 275 S
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Question Number : 31 Question Id : 27028217897 Question Type : MCQ Option Shuffling : No
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No

Correct Marks : 2 Wrong Marks : 0

Which of the following months shows maxmmum increase m the production over its
immediately preceding month?

800 TS 2 Fo T S0008) Te) §0% &5 )06 103 DARMHLOD LFyS00
Options :

March 550 )

1. %



April DO
2.9

May %4
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Correct Marks : 2 Wrong Marks : 0

By how much 1s the average production of last five months more than the average production
of first three months
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Correct Marks : 2 Wrong Marks : 0

Which month shows exactly the same increase in production over its immediately preceding
month as the month of March shows over that of February?
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Options :
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Correct Marks : 2 Wrong Marks : 0

Approximately by what percent did the total production m the two consecutive months of
July and August increases over the total production in the first two consecutive months of
January and February?
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Correct Marks : 2 Wrong Marks : 0

How many months have more than the average production for the given 8 months period
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Note: For this question, ambiguity is found in question/answer. Candidate will get full marks

for this question if any of the correct options are chosen.
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ASCII Stands for .........
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Options :

American Standard Code for Internet Interchange
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American Standard Code for Information Interchange
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American Standard Code for Information Institute
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American Standard Code for Institute Interchange
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Deleted e-mails are stored in...........
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Options :

Draft
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A learning situation in which the teacher and student are not in the same location.
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Options :

Dual credit course
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Accredited
JEADE

Distance learning
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Webquest
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Correct Marks : 2 Wrong Marks : 0

SWAYAM Prabha is devoted to telecast High Quality Educational Programmes on 24x7

bases through a group of ...
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Note: For this question, discrepancy is found in
question/answer. Full Marks is being awarded to

all candidates.

Options :

64 Channels

, 32 Channels

16 Channels
3.

. 44 Channels
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Which among the following can be the disadvantage of using ICT in Education?
D56° ol R sd@PNODHLD & OIHS wodin [H8 Lrod Svd

Options :

Collaborative learning
1 % Ser20dS B

Privacy Theft
B30 3P

Motivation
BT

. Experience
DEYHO )
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Which of the following 1s/are Millennium Development Goal?
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Options :

Addressing climate change
THHO PO BT

Improving maternal health
,, S 5 ) FBHDHEDL
Ensuring energy security for all
®otdr d8J08orr GOt wrehd
3. %
Both a and ¢
4 % A 0Baw ¢
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The major source of the pollutant gas. carbon mono-oxide (CO), m urban
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e oz’ Tendy oind) YIIPTEE)E (@) W) G Boifo

Options :

Thermal power sector
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Transport sector
5 @ D& Boio

Industrial sector
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Domestic sector
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The main pollutant in the airis .........
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Options :

CcO
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Choose the set of non-renewable resources
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Options:

Uranium, natural gas. soil
| x O00RD0, JFaaraing, Jo

Natural gas. uranium, phosphates
BSrarainyg, onddcho, @fi‘}&g

Petroleum, uranium, geothermal energy
2TDAD0, awORaho, EREEHS 5§

3. %
Shale gas, Uranium, soil
. S MR, awtdabo, Je
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Seismographisusedto ......................
DI HIE BOBRATE

Options :

Measure speed of cyclone
mOTEY Q) EPedhéodd

Measure Earthquake
:‘,ﬁ:ﬂﬁoéﬂﬁ& S SR et

Measure rainfall
ém:lﬁ}& EPe)cned®

Measure charge on any metal rod
B O S 78
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Sub-Section Number : 10
Sub-Section Id : 2702821319
Question Shuffling Allowed : No

Is Section Default? : null

Question Number : 46 Question Id : 27028217912 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On



Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control :

No

Correct Marks : 2 Wrong Marks : 0

Who 1s crowned as father of Medicine?
DoBE; T U5 6F DEKS ©d TEDoHHEIL 58 7

Options:
Sushrut
ﬁatﬁ?eﬁ

1. =

Charaka

5 & 368

Varahmitra

Soeie Soj

Kanad

i=heitil
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Which of the following curriculum frameworks is not proposed by NEP — 20207
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Options :



National Curriculum Framework for School Education
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National Curriculum Framework for Adult Education
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National Curriculum Framework for Technical Education
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National Curriculum Framework for Teacher Education
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What is the new pattern of 10 + 2 Education Policy in the New Education Policy 2022?
2022 8 dom; dgrod® 10 + 2 Jup AP B°E S a6 ?
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Which of the following 1s not a Professional Course?
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Options:

i L i
Pharmacy
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Law

Engineering
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Fine Arts
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National Skill Qualification Framework (NSQF) orgamizes qualification according to

series of levels of ..............
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Options :

Skills. Achievement and Aptitude
THossin, FHothe, )il

Skills. Experience and Aptitude
S doraw, endNm, efthd
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Knowledge. Skills and Aptitude
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Knowledge. Skills and Experience
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What 1s represented by “A° corner of the ternary AFM diagrams?



Note: For this question, discrepancy is found in
question/answer. Full Marks is being awarded to

all candidates.
Options :

1. }'&1303"‘1‘—'3__103

2. A1303+FE203-N330-K30-('EiO

3 AIQO 3_F eO-Na 30 -K 30

4 Al,Os+Fe,03-Na,0-K,0
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Which of the following is not part of the interference figure?
Options:

| % Melatope

5 % Isochromes
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Question Number : 53 Question Id : 27028217919 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control :

No
Correct Marks : 2 Wrong Marks : 0

REE minerals are commonly associated with

Options :

1 % Dunite

. Carbonatite

3 % Quartzite

4% Dolomite
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Which of the followings is the best geophysical method for identifying a
stratiform chromite deposit?

Options :

Magnetic Survey

Gravity Survey

Self-Potential

4% None of these
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Exfoliation is a typical form of

Options :

| w» Chemical weathering

5 % Biochemical weathering

Vsi ]
3 @ Physical weathering

4 % Mass wasting
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Infiltrated water above the water table 1s known as:

Options :

_— Percolating water

5 Vadose water

3 % Soil water

4 % Connate water
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Cruciform twinning 1s exhibited by
Options:

1 = Kyanite



5 « Staurolite

3 % Grossular

Albite

4. %
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If the fault planes strike parallel to the tunnel axis. then the site condition for
tunnelling will be:

Options :
| % Desirable

, % Most desirable

3 ¢ Undesirable

4 % Limited effect
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Correct Marks : 2 Wrong Marks : 0
A sedimentary rock consisting entirely of less than 1/16 mm. grain size particles 1s
called as

Options :

Pelite

1. #

5 % Psammite

3 @ Lutite

4 » None of the above
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Rank of coal 1s determined by

Options :

| % Reflectance

, » Moisture content

. Volatile matter content



4 All of these
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Aravallies lie against the Vindhyans along a tectonic plane and the plane is a;

Options :

| % Main Boundary Fault

) o Great Boundary Fault

3. % Main Central Thrust

4 % Highangle Reverse Fault
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Match column A with column B and select the correct answer using the code given

below

Column A

1. Rythmite

2. Graded bedding

3. Herringbone structure
4. Cross bedding

Options :
1-D. 2-A. 3-C. 4-B
> x 1-C,2-B, 3-A, 4-D

3 » LA2BS-D4C

4 ¢ 1-C.2-D. 3-A, 4-B
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Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On

Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control :

No

Column B
A. Beach deposit
B. Fluvial deposit
C. Glacial deposit
D. Turbidite deposit

Correct Marks : 2 Wrong Marks : 0

Which statement is not correct in the formation process of petroleum from

Kerogen?

Options :

1.

., Catagenesis is the principal zone of oil formation

5 % Wet gas 1s formed during catagenesis by cracking



- Liquid hydrocarbons are cracked and convert into gas during metagenesis

4 Diagenesis 1s the mature stage with high hydrocarbon generation
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Match list-I with list-II and select the correct answer using the code below

(Plagioclase feldspar)  (Mole % Plagioclase)
1. Andesine A Any-Angzg
2. Labradorite B. Anzg-Ansp
3. Oligoclase C. Ansg-Anyg
4. Bytownite D. Ango-Anigo
E. Allm-ﬁ.‘llgg
Options :

1. % 1-D, 2-A, 3-B, 4-C

1-A. 2-B. 3-D. 4-E

3 ¢ 1-B.2-C.3-A, 4-E

4 % 1-A,2-C,3-B,4-D
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The hybrid rock “Kodurite™” consists of

Options:

- Garnet+Spessartite+Rhodonite+Feldspar+Quartz+Apatite

5 % Garnet+Braunite+Rhodochrosite+Feldspar+Biotite +Quartz

. Manganite+Feldspar+Quartz+Hematite+Feldspar+Kaolinite

4. % None of the above
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Strike slip fault produces which kind of the following type of sedimentary basins?

Options :
Foreland basins

1. %

5 Pull-apart basins



3 % Deep sea trenches

4w Aulacogens
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Which of the followings 1s not an index fossil?
Options :

Paradoxide pinus

v Turritella angulate

3 % Scaphites hippocrepis

, % Cardita beaumonti
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Correct Marks : 2 Wrong Marks : 0

Geostationary satellites are placed at an altitude of approximately
Options :

1 ¢ 22300 mile

11.000 mile

24.000 mile

L]
L]

000 mile
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Insitu deformation test of rocks 1s determuned by

Options :

| % Etch Test

5 % Brazillian Test

3« Jack Test

4 % None of the above
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Which of the following statements about rock deformation 1s false?

Options:

Deep crustal rocks are more likely to deform ductility than shallow crustal
1. % rocks

Rocks under low confining pressure are more likely to deform ductility

» than rocks under high confining pressure

Most sedimentary rocks are more deformable than igneous rocks
3. #

Hotter rocks are more likely to deform ductility than cooler rock
4, %
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What geological structure 1s shown on the map above?

Options :
1% Basm

5« Dome

3 % Syncline

4 % Anticline
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Which two cross sections show possible o1l traps?

Options :

1 % WandZ

XandY

3« WandY

4 Xand Z
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The correct lithological order from the bottom to top mn an ophiolite sequence 1s :



Options :

Lavered peridotite-Sheeted dyke-Gabbro-Pillow basalt
, Layered peridotite gabbro-Pillow basalt- Sheeted dyke
3 ¢ Layered peridotite-Gabbro-Sheeted dyke -Pillow basalt

4% Gabbro-Layered peridotite-Sheeted dyke-Pillow basalt
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Match the mineral deposits m column A with their geographic distribution m
column B

Column A Column B

1. Barite A. Jhamarkotra
2. Copper B. Mangampeta
3. Phosphorite C. Kudermukh
4. Magnetite D. Malanjkhand

E. Rampura-Agucha
Options :

1. v 1-B;2-D, 3-A, 4-C

1-E. 2-D. 3-A. 4-B



1-E. 2-A. 3-D. 4-B
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Which of the following statement is wrong?
Options :

Removal of alkali feldspar leads to Ba depletion because this mineral
concentrates Ba

Removal of augite leads to Sc depletion because this mineral concentrates

Z&;SC

Removal of plagioclase leads to Sr depletion because this mineral

concentrates Sr
3. %

Removal of olivine leads to Cu depletion because this mineral strongly
, concentrates Cu
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A sandstone bed dipping 30° has an outcrop width of 18 m m a flat terrain. What

would be the true thickness (in m) of the bed?

Options :
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The average grain size of a sedimentary rocks was measured -12 in ¢-Scale? The
average grain size another sedimentary rocks was measured +12 m ¢-Scale. Which
of the grain 1s bigger?

Options:

=1
1.¢L.



Grain size 1s independent of any such size classes

4 % None of the above
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Flow of Groundwater through saturated aquifer is
Options :

Proportional to the difference in hydraulic head & Inversely proportional

Lo o the length of the aquifer unit

- Inversely proportional to the length of the aquifer unit

Proportional to the difference in hydraulic head

v All of these

Note: For this question, ambiguity is found in question/answer. Candidate will get full marks

for this question if any of the correct options are chosen.
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Neutron Log of a borehole mark a variable rock at a particular depth by showing
the small part of the neutron reflected for the detecter. It indicates the rock is:

Options :

- Compact and dense

, « Crystalline

3. « Porous

4% Magnetic
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If the true dip direction of a bed is N35E, the strike direction of that bed will be:
Options:

N35'W
e

N55°W
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In rocks with textures. the larger phenocrysts are embedded in an
aphanitic groundmass composed largely of microcrystalline. cryptocrystalline or
glassy material.

Options:

1 « Porphyritic

, w Poikiltic

3 % Spinifex

4 % Pegmamtitic
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If dip of a fault plane 1s 55 degree, then the Hade will be

Options :

It has no relation with dip of the fault plane

4% None of the above
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Which of the following 1s/are true about igneous rocks?
Options:

Igneous rocks are classified based on texture and mineralogy

> % A few examples of igneous rocks are granite. quartzite, slate and basalt

Igneous rocks are formed by cooling of molten magma
3. v



4 » All of these

Note: For this question, ambiguity is found in question/answer. Candidate will get full marks

for this question if any of the correct options are chosen.
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Which of the statement 1s incorrect for schist and gneissic rocks?

Options :

The very coarse grained minerals in both schist and gneisses are called as
porphyroblasts

In general. the schistose rocks are more competent than the gneiss n
normal condition

The grain size of the munerals in gneiss 1s relatively coarser and
3 % ldentifiable as compared to the schist

The nomenclature of the gneiss and schist 1s dependent on the mineralogy
and precursor rocks
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Choose the correct order of the minerals according to their increasing order of
hardness

Options :

- Graphite —Calcite— Quartz—Hematite

5 % Calcite— Graphite— Quartz— Hematite

P Graphite —Calcite— Hematite—Quartz

4% Graphite—Hematite— Calcite—Quartz
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In case of sinuous channels due to high sinuosity, the large meanders of river
channels usually cut across their bends forming a straight channel and leaving
behind the meander which 15 called

Options :

Delta

1. %

5 % Braided channel



Point Bar

3, #*

4 v Oxbow Lake
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High temperature. High pressure Quartz 1s

Options :

1 % Irydymite

Alpha quartz
2. %

3  Coesite

4 % Cristobalite
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Igneous rocks with [Al/(Ca-1.67P+Na+K] > 1 are called as
Options :
1 % Peralkaline rocks

, » Alkaline rocks

3 @ Peraluminous rocks

4 % Metaluminous rocks
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Which of the following stratigraphic horizons/units does not host any BIF?
Options :

1 % Dharwar Craton

5 % Singhbhum Craton

3 ¢ Deccan Traps

o Bastar Craton
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Stromatolites are found in which stratigraphic units of the Cuddapah Supergroup

Options :

Tadpatri Formation

Cumbum Formation

v Vampalle Formation

. Pullampet Formation
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Glacial deposits are characterized by

Options :

1 I11-sorted nature



> % Well sorted nature

3 % Fine grained in nature

4 % Nomne of these
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Etched, pitted and rugged surfaces exposed in the in the limestone terrain are
known as

Options :

| % Terra rossa

5 @ Lapies

3 % Sink holes

Pepino
4. %
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Shallow focus earthquake zones and chains of submerged mountains are observed
along

Options :

1. % Island arcs

5 % Subduction zones

Transtform fault

Mid-oceanic ridge
4. 2
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Which among the following 1s/are conditional for the formation of Coral Reefs?
1. The temperature of the water should be below 20°C.
2. Shallow water having a depth less than 50 m.

Select the correct code from the options given below:;

Options :

1 % Onlyl



Both1 & 2

4 w Neither 1 &2
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Seawater at 15°C and 35 PSU salinity would have the same density as seawater
Options :

1.« at21°C and salinity 37 PSU

, x at 14°C and salinity 37 PSU

3 % at21°C and salinity 34 PSU

., at 15°C and salinity 37 PSU
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Which of the following statement (s) 1s/are correct about EI Nino?

Options :

. The term EI Nifio translates from Spanish as 'the boy-child'

Peruvian fishermen originally used the term to describe the appearance.
5 % around Christmas, of a warm ocean current off the South American coast

It 15 now the commonly accepted term to describe the warming of the
3 % central and eastern tropical Pacific Ocean

4 All of the above
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Match the following:

(1)  Coral aragonite A. Intense upwelling of phosphate rich
water

(1)  Phosphorite nodules B. Clear waters rich in biological
productivity

(1) Fe-Mn oxide deposits C. Oxygen poor hydrothermal vent
water

(1v) Massive sulphide deposits D. Deep oxic water

Options :

(1) - A, (11)-B, (1) - D, (iv) - C

1. %



, % ()= A, (ii) - B. (iii) - C. (iv) - D

3« (1)-B. (i) - A, (ii1) - D. (iv) - C

4% (1) -B. (1) - A, (1) - C. (iv) - D
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Which of the following features of the Indian summer monsoon circulation 1s

FALSE?

Options :

| » The Somali Jet is centred at a height of 1.5 km

> « The Tropical Easterly Jet originates from the Mascarene high

3 % Lhe Subtropical Westerly Jet in climatologically located at 25°N

The Tropical Easterly Jet is normally located between 12°N and 15°N over
4 % India
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Identify the CORRECT statement about cyclones:

Options :

- High speed winds circulate around a high-pressure region

The coastline of India is not vulnerable to cyclones
2. %

The wind direction 1s clockwise in southern hemisphere and anticlockwise
3 « innorthem hemisphere

4 » The wind direction is clockwise in both hemispheres
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Which of the following 1s true regarding types of Data used in GIS?

Options:

1 w Interval Data and Ratio data measures quantity hence are Quantitative Data

, % InRatio Data. numbers can be compared as multiples of one other



Interval Data 1s measured along a scale in which each position 15 equidistant
3 % from one another

4.« All of the above
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The system that uses the Sun as a source of electromagnetic energy and records
the naturally radiated and reflected energy from the object 1s called

Options :

1 = Geographical Information System

5 % Global Positioning System

3 @ Passive Remote Sensing

4 » Active Remote Sensing
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What are the numbers of orbital planes and satellites in one orbit for a GPS.
respectively?

Options :

| Six and Four

5 % Twenty-four and Six

3 % Three and Four

4% Four and Twenty-eight
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LIDAR used mn Remote sensing stands for:
Options :

1% Low-intensity development and ranging

Luminiscence detection and ranging
2. %

3 ¢ Light detection and ranging



Low-intensity detection and ranging
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Which among the following statement 1s correct with respect to the Savanna
Climate?

1. Savanna climate has alternate wet and dry seasons

2. It 1s known for commercial grain farming

3. Bushmen tribes who mhabit the savanna region are pastoralists

Options:

1 only

, % 2 and 3 only

5 % 1and3only

1.2 and 3
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Which of the following are sequentially arranged?
A. Stratosphere - Stratopause - Troposphere

B. Stratopause - Mesosphere - Mesopause

C. Mesosphere - Mesopause - Thermosphere

Options :

Only A

_ Only A and B
2. %

3 OnlyBandC

. A.Band C
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Tropical cyclones form mostly on the western margins of the oceans and don’t

form in the eastern tropical oceans. What is the reason?

Options :

The cold currents lower the surface temperatures of the eastern parts of the

1.+ tIDplCﬂl oceans

, Coriolis force 1s too weak on eastern tropical oceans



Absence of oceanic current in eastern tropical oceans
3. %

Inter-tropical Convergence Zone seldom occurs near eastern tropical
oceans
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Which atmospheric layer contams Ions and helps in wireless communication?

Options :

Mesosphere
1. %

, « Thermosphere

3 % Troposphere

Stratosphere
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Correct Marks : 2 Wrong Marks : 0
Great Bear' 1s the name of a:

Options :

1 % Galaxy

, % Moon

3¢ Constellation

4 % Star
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The occurrence of season on Earth 1s due to the fact that:

Options:

| @ The earth's axis 1s tilted

The rotation rate of earth changes during the year

3 % The earth's axis points in different directions during the year

The earth is closer to the sun during summers
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What name 1s given to 180° longitude due to the spherical shape of the Earth?
Options :

_— Greenwich line

. Equator

- International date line

4% Capricorn line
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Match the following Soil types (List I) and their characteristics (List II)

List I (Soi1l Type) List IT (Characteristics)

1. Andisols A. Dry soil

2. Ultisols B. Soils in areas of permafrost

3. Gelisols C. Soils that have had the last of their nutrient bases

leached out

4. Mollisols D. Soft soil

How many of the pairs given above 1s/are correctly matched?
Options :
1. % 1

<

2./ °©
3.% 3
4% 4
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The in India are generally known as ‘Tidal Forests’.

Options :

1 % desert forests

, % mountain forests



3w drylands

4 wetlands
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What 1s the main difference between a dam and weir?

Options :

| @ Height and Duration of Storage

, « Capacity of Water

w Material used for Construction

4 % Location of the Structure
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The Mohr’s theory of failure can be symbolically expressed as
Options :

tmax=F(on) and omax—omin = f{omax +omin)

Tmax = gmax— omin

3 % None of the mentioned

4 % All of the mentioned
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The yield or failure criterion can be expressed as

Options :

f(11,12)=0

1. %

2 =
,, fIL1213)=0

~ f(cl1.02.63)=0
3. %

,, f(omax +omin)
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Arrange the following electromagnetic methods in the decreasing order of depth of
investigation.

P) Time domain EM method

Q) Magnetotelluric method

R) VLF method

S) Ground Penetrating Radar method

Options :

P?""Q:"S}R

1. #

5 % 53:*Q3*P:‘R

3 @ Q T P _':::-R = S

4 % Q.‘:ﬁR‘_:»P}S
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Match the following in Group I with those of Group II.

Group I Group II

P) Electrical Method 1) Density

Q) Magnetic Method 2) Velocity

R) Gravity Method 3) Resistivity

S) Seismic Method 4) Suscepftibility

5) Dielectric Permittivity

Options :

1_$3P—3 Q-2:R-5:8-1

5 P—g0y—4;R—1:8=2

= . . Ly =

3'MP F: Q-4 R-2:5-1
4w P-5:Q—-4:R-3:8-2
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Match the mineral deposits (listed in Group I) with the most appropriate
geophysical exploration methods (listed in Group II)

Group I Group II

(P) Mineralized conductive veins (1) Gravity

(Q) Dissemimated sulphides (2) Magnetic

(R) Massive barytes (3) Induced Polarization
(S) Kimberlite pipes (4) Resistivity profiling

(5) Low frequency Magnetotellurics
Options :

1 % P-4: Q-3: R-1: S-5

, « P-2:Q-1:R-4: 8-5

3 % P-5:Q-1:R-4:8-3

4.« P-4:Q-3: R-1: 8-2
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As compared to large earthquakes. small earthquakes are:
Options :

| % more frequent and caused by short fault slip and long rupture lengths

more frequent and caused by long fault slip and short rupture lengths



less frequent and caused by short fault slip and short rupture lengths

, more frequent and caused by short fault slip and short rupture lengths
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Match the type of well logs (listed in Group I) with the characteristics of
measurement (listed in Group II).

Group I Group II

(P) Dipmeter (1) Hydrogen concentration in pores
(Q) Neutron (2) Velocity of compressional waves
(R) SP (3) Correlation of resistivity changes
(S) Sonic (4) Natural radioactivity

(5) Natural electric potential
Options :

o @y B v R e
1.k‘_‘_/P =R RES 52

, x P-4Q-1:R-5:5-3

3 x P—3;Q-%R-5:8-2

,x P=3:Q-LR-48-2
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Match the following:

I (Deposits) II (Pathfinders)
1. Copper. 1. Arsenic.
2. Gold. 11. Mercury.
3. Silver. 111. Molybdenum
4. Lead-zinc. 1v. Antimony.
Options :
_— 1-11. 2-111. 3-1v. 4-1
s
5 1-111. 2-1. 3-1v. 4-11
3 % 1-1, 2-11. 3-111. 4-1v
4% 1-111, 2-11. 3-1. 4- 11
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Which one of the following is the elephant fossil in Siwallik?

Options :



Physa

1. %

v Brahmapithecus

. Stvapithecus

4 % Turritella
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What 1s Eparchean Unconformity?

Options :

- Disconformity between Archean and Proterozoic

Unconformable boundary between Archean and Proterozoic
2. ¢

- A non-conformity boundary between Archean and Phanerozoic

4 % Unconformable boundary between Proterozoic and Phanerozoic
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The exact sequence of coalification is:
Options :

- Peat-Lignite-Anthracite-Bituminous

5 % Bituminous- Peat-Lignite — Anthracite

Anthracite-Bituminous —Lignite- Peat

4 » Peat- Lignite-Bituminous —Anthracite

Question Number : 125 Question Id : 27028217991 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control :

No
Correct Marks : 2 Wrong Marks : 0

The principal mineral constituent of drilling mud is:
Options:
. Bauxite

5 Barytes



Corundum

Beryl
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The dramnage pattern which shows a lack of structural control to the stream-flow
direction is described as:

Options:

o Parallel

Dendritic
G

- Rectangular

Trellis
4. %
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Correct Marks : 2 Wrong Marks : 0

Lignite deposits of India are associated with:
Options :

1 % Rajmahal traps

, % Jabalpur traps

3 % Barakar sandstone

4 Cuddalore sandstone
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A limestone composed entirely of organic detritus 1s termed as:

Options :

| Coquina

> % Encrinites

3 % Spergenite

Oolite
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An impermeable formation that neither contains nor transmits water is called:

Options :

1 % Aquifer

> = Aquiclude

3 @ Aquifuge

4% Aquitard
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Which types of rocks are characteristically associated with high pressure - low
temperature belts:

Options :

1 % Garnet- Mica Schist



5> Blue Schist

Hornfels
3. %

4 % Migmatites
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Which one of the following 1s not a conventional reserve estimation method?
Options :

| % TIriangular

5 @ Kriging

3 » Contour

4. % Cross-sections
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Which one of the following is the chrome-bearing mica variety?

Options :

Rubellite

, % Roscoelite

Phengite

4 Fuchsite
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The ratio of the transverse strain to axial strain 1s called:

Options :

. Modulus of rigidity

5 % Bulk Modulus

, Rigidity modulus
E



Poisson’s ratio
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Which one of the following gastropods 1s planispirally coiled?

Options :

Turritella
1. =

5 x Murex

Pleurotomaria

Bellerophon
4, &
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Disappearance of Rugose Corals took place during?



Options :

1 ¢ Permuian

Triassic

3 % Jurassic

4 % Cretaceous
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In Crystallography there are

Options :

v 6 systems-14 Space lattices-32 classes-230 space groups

5 % 6 systems-32 Space lattices-14 classes-160 space groups

6 systems-8 space lattices-20 classes-200 space groups

6-systems-12 space lattices-32 classes-14 space groups
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The mineral pairs calcite & aragonite and diamond & graphite are examples of

Options :

Isomorphs

5 % Pseudomorphs

- Polymorphs

4 % Polytypes
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Match the following and choose the correct answer

A. Charnockite I. Sillimanite+Qtz+ Feld+gamet

B. Khondalite II. Qtz+ Perthite+K-Feld+Hyp

C. Blue Schist III. Hornblende+Plg.

D. Amphibolite IV. Glaucophane+ Jadeite+ Soda amphibole

Options :



1 A-II, B-I. C-IV, D-III

A-I. B-II. C-III, D-IV

. A-II. B-IV. C-1, D-IIT

A-L B-IV. C-II. D-11I
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Match the following mineral/hydrocarbon resource locations:

RESOURCE LOCATION

A) Barytes I) Hutti

B) Gold IT) Pulivendula

C) Hydrocarbons IIT) Sargipalli

D) Lead I'V) Digboi
Options :

. A-I. B-IL.C-III. D-IV

A-II. B-1. C-IV. D-III
2. ¥

3 % A-IL B-IIL C-I. D-IV



4w A-TV. B-III. C-II. D-I
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Which one of the following is a non-radioactive isotope of lead?

Options:

Pb?[ﬂ

1. %

Pb?ﬂﬁ
2. ®

_ Pb?ﬂ?

PL208
4, ®
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According to Darcy’s law. infiltration index 1s:



Options :

1 Directly proportional to head gradient

5 % Inversely proportional to head gradient

3 » Unrelated to the head gradient

4 % None of the above
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Below given figure illustrates an outcrop pattern on a flat ground. Which one of the
following sets of events 1s arranged in the correct chronological order?

N
T

Options:



Intrusion X

Faulting F
Folding

Intrusion Z

Intrusion Z

Folding

Intrusion X

b

, % Faulting F

Folding

Intrusion Z

Faulting F

3 % Intrusion X

Folding

b

Intrusion X

Faulting F

4 Intrusion Z
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Match the following:

PROPERTY MINERAL

A) Hardness I) Galena

B) High Specific gravity II) Mica

C) Combustibility IIT) Kyanite

D) Elasticity IV) Sulphur
Options:

A-I. B-II. C-III. D-IV

1. %

A-III, B-1. C-IV, D-II
7

3 % A-II, B-III. C-I. D-IV

A-IV. B-IIIL. C-II. D-I
4, %
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Consider the statements regarding the map pattern shown i the figure below:

Options :

Bed A 1s inclined

. Bed B i1s vertical

P F 1s an oblique slip fault

4% None of the above
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Determine the correctness from the following Assertion (A) and Reason (R).

Assertion: Strontium concentration n a basic magma decreases with fractional
crystallization of plagioclase.

Reason: Strontium 1s a compatible trace element in plagioclase during magmatic
crystallization.

Options :



_— Both (A) and (R) are true and (R) 1s the correct reason for (A)
. (A)1s true but (R) 1s false
. (A)is false but (R) is true

. Both (A) and (R) are true but (R) 1s not the correct reason for (A)
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Determine the correctness from the following Assertion (A) and Reason (R).

Assertion: Biaxial minerals can be pleochroic in three shades.

Reason: Biaxial minerals have three refractive indices.
Options :

- Both (A) and (R) are true and (R) is the correct reason for (A)

5 % (A) 1s true but (R) 1s false

3 % (A) 1s false but (R) 1s true



Both (A) and (R) are true but (R) 1s not the correct reason for (A)
4, %
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Determine the correctness from the following Assertion (A) and Reason (R).

Assertion: In a well-log survey using fresh-water drilling mud., an o1l-bearing
sandstone zone can be identified by electrical resistivity and SP logs.

Reason: Oil has high electrical resistivity and the porous nature of sandstone 1s
indicated by negative SP.

Options:

- (A) 1s true but (R) 1s false

, % (A) 1s false but (R) 1s true

both (A) and (R) are true but (R) is not the correct reason for (A)

P both (A) and (R) are true and (R) 1s the correct reason for (A)
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Determine the correctness from the following Assertion (A) and Reason (R).

Assertion (A): High-temperature, low-pressure metamorphism occurs on the over-
riding plate near convergent plate margins.

Reason (R): Partial melting in the mantle wedge generates magmas that rise to
form the arc.

Options :

- (A) 1s true but (R) 1s false

5 % (A) 1s false but (R) 1s true

P Both (A) and (R) are true and (R) 1s the correct reason for (A)

4 % Both (A) and (R) are true and (R) 1s not the correct reason for (A)
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Determine the correctness from the following Assertion (A) and Reason (R).
Assertion (A): Deccan Traps are formed by eruption of basaltic magma

Reason (R): Basaltic Magma has low viscosity



Options :

Both (A) and (R) are correct

5 % (A) 1s correct and (R) 1s incorrect

3 % Both (A) and (R) are incorrect

4 % (A) isincorrect but (R) is correct
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Under mtense pressure and high temperature, hydrogen atoms combine to form
helium. This process 1s called:

Options :

_— Nuclear fission
5 o Nuclear fusion

. Metamorphism

Anatexis



